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Note : — Answers may be written either in English or in Hindi; but the same medium should

- be used throughout the paper.
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All questions are compulsory.
. Afl -questions of each Section (A, B and C) should be atfempted together.
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1. (a) “Economic growth is just one of the means to achieve the end which is the improvement
| in the quality of life of human beings.” Explain. o 7
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B Discuss the impac{ of Economic Reforms on the Iperformahéc of Indian Eco.nOmy.
since 1991. L | - | | 1
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(@) What are the common features of developing countries ? 7%

(b) Discuss the changes in the composition of national income in India since 1951, What -

do these changes reflect ? ) _ (A7 3
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Discuss the nature and causes of unemployment in India since 1951. Suggest measures to
increase employment. ' .. 15
1051 ¥ W@ § T F vH 3 FRol W emen Ffw) 9 9 wen @

FN I T ?



( 3) 545
o
(3reran)

* Discuss the gth performance of Indian Economy under different policy regimes since

1951. o T 15
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‘Write shor:t notes on any fwo : . | 7'/13“2=]5.

(@) New Agﬁcullurc Stralégy

(b) . Role and impoﬁance of Agriculture in Indiaﬁ Ec'onomy

(¢) Causes of deceleration of Agric.ullurc Growth rate i.n recént period

' (d) Pubhc sttnbuuon Systcm in India.
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4.  What arc the major problems faced by the indusﬁa] sector in India ? Analyse the trends in
industrial growth since 1991. (Refer table 1) : . | | 1:5
wﬁ%mmmmmmmﬁ—m% 2 1991 B 3R
3 siafm dfs ® v @ favawn Fit (e afe 1) |
| | : Table 1 | |
A\*era;ge Annual Growth Raté of Indus.trial Production (Use Based) m P&-Rcf0m1 Decade
and Post-Reform Period : |
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Use Based or - 1930-81 Eigkih Plan® | Niath Plan® fcmh f‘lan' Eleventh Planf

Functional Classiticavon | 1991-91* | 1992-93 to | 1997-98 10 | 2002-03 t0- _mo{-os to 2012-13 2013-14

IEM e gl 1996-97 2001-02 2006-07 2011-12
1 2) (&) 4 (3 I () I (7 (8)

| Basic Goods 74 Y | a1 66 - | 54 s © 25
(smumga @wgd)

2. Capital Goods - 9.4 8.9 4.7 144 143 0 | -60
(fotma ag)




(h) Problems faced by the Small Scale Industries in India.
e ot fofery ;
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3 Iméemedinte Goods 4.9 8.5 5.8 6.2 4.0 0.6 16
-(w:a%ﬁ' aggd)-
4. Consumer Goods 6.0 66 X 9.6 18 1.4 2.4
(i @)
(#) Durables 1038 134 10.7 . 88 6 | 26 2.0
(feF1)
| Gn Nun.-Durah!cs 5.3 48 38. 10.0 . 34 5.9 28
General Index 7.8 4~ | 50 8.2 6.9 “29 1.2
(Fmr gawis)
. Simple average of the annual growth rates.
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Write short notes on :
(@) Role of Service sector in Indian Economy 7%
7Y
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Section C
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Differentiate between balance of trade and balance of payménts. What are the causes of .

‘increasing deficits in balance of trade ? o R 15
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Write short notes on :

(a¢) India and the WTO . A

(h) Role of Foreign Direct Investment and. Foreign Institutional Investment in India. 7Y
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